3.1
Responder’s 2nd bid

After responder has bid 2(/(, a major suit Jacoby transfer, and opener completes the transfer then responder has various options after opener’s reply and everything is covered in this transfer section.

After opener has simply completed the transfer, responder may continue as follows: - 

Pass
= a weak hand (0-7)

Bid a new suit
= 4+ card suit, forcing to game

2NT
= 5 card major, invitational (8-9) to 3NT or 4 of the major

3 of the major
= 6 card major, invitational (8-9) to 4 of the major

3NT
= 5 card major, balanced (10-15)

4 of the major
= 6 card major (10-15) and mildly slam invitational (otherwise use Texas).

These are the basic options; other options (ace/key card ask, splinters and other slam suggesting bids) are also covered later.

Let’s start with the simplest, pass: -





With all of these hands, your partner has opened

Hand A
Hand B
Hand C
a strong 1NT, you transferred with a bid of 2( 




and partner completed the transfer with 2(. 

( QJ963
( KJ975
( J9876
Hand A does not have sufficient values to invite

( J64
( 98
( 983
a possible NT or ( game, and so passes. Similarly 

( 63
( 72
( 2
Hand B does not have the values to bid (say 2NT 

( Q85
( Q974
( J974
or 3() and so must pass. Obviously Hand C passes, 




2( is sure to be a better spot than 1NT.

Example 1

West
East
West
East

(1)
transfer







(2)
normal accept

( AK5
( J9876
1NT
2(
(1)
(3)
a better spot than 1NT.

( Q742
( 983
2(
(2)
pass
(3)



( Q87
( 2



( KQ2

( J974

Hand D
And how about this hand? Eight points and a five card suit. So invite with


2NT after transferring? No. This hand is from a club tournament and 

( J8652
every table except one invited game. 3( and 3NT both went down.

( 103

This hand has a miserable trump suit. High cards belong in long suits,

( K103
not three carders. This hand should simply pass the 2( transfer completion.

( A52

A very easy way to earn a top board. We meet this hand again when we cover 


super-accepts by opener.

  
3.1.1
Invitational Bids: - 2NT or 3 of the major
When responder has invitational values, about 8-9 pts, then he has two options to invite game. When the major suit is 6 cards long, 3 of the major invites. With just a 5 card major the invitational bid is 2NT. Note that these are the only two possibilities with invitational hands as any other bid is game forcing (as discussed later).

Hand E
Hand F
Hand G
Partner opened a strong 1NT, you bid 2( and




partner completed the transfer with 2(. 

( QJ1063
( KJ975
( KQ8762
Hand E bids 2NT, showing exactly 5 (’s and

( J64
( 103
( K103
invitational values. Hand F would like to show 

( 63
( 92
( 92
his ( suit, but 3( is game forcing, so bid 2NT.

( KJ8
( KJ74
( 74
Hand G has a 6 card suit; so 3(, invitational.

Example 1

West
East
West
East

(1)
transfer







(2)
normal accept

( A95
( KQ8762
1NT
2(
(1)
(3)
invitational, 6 card suit

( QJ42
( K103
2(
(2)
3(
(3)
(4)
I like the 6-3 fit.


( A87
( 92
4(
(4)
pass

( KQ2

( 74

  

______________________

Example 2

West
East
West
East

(1)
transfer







(2)
normal accept

( A6
( KJ975
1NT
2(
(1)
(3)
invitational, 5 card suit

( QJ42
( 103
2(
(2)
2NT
(3)
(4)
I’ll be happy if I make 8 tricks

( A876
( 92
pass
(4)


( A92

( KJ74

  

______________________

After a 2NT invitation by responder; opener will usually pass, sign off in 3 of the major or bid game in either NT or the major. 

But there are other options …..


3.1.1.1
Finding a 5-3 fit in the other major after 2NT  

Hand H
You open this hand 1NT and the bidding has gone   1NT - 2( - 2( - 2NT - ?

( 95
You are near maximum, but with poor (’s a 4( contract is not an option.

( AQ942
3NT could well be right, but 4( would be preferable if partner has decent      

( KJ5
3 card support. How do we tell partner that we are maximum with a 5 card 

( AQ2
( suit? Simple, we just bid it (the ( suit)!


Example 3

West
East
West
East

(1)
transfer







(2)
normal accept

( 95
( KQ876
1NT
2(
(1)
(3)
invitational, 5 ( card suit

( AQ942
( K103
2(
(2)
2NT
(3)
(4)
I am max with 5 (’s


( KJ5
( 872
3(
(4)
4(
(5)
(5)
excellent

( AQ2

( 94
pass




______________________


Example 4

West
East
West
East

(1)
transfer







(2)
normal accept

( 95
( KQ876
1NT
2(
(1)
(3)
invitational, 5 ( card suit

( AQ942
( 103
2(
(2)
2NT
(3)
(4)
I am max with 5 (’s


( KJ5
( 872
3(
(4)
3NT
(5)
(5)
max is fine

( AQ2

( K94
pass




______________________

So the sequence
1NT - 2( - 2( - 2NT -  3( is forcing, showing a maximum with 5 (’s

                   and
1NT - 2( - 2( - 2NT -  3( is forcing, showing a maximum with 5 (’s.  

3.1.1.2
Game tries after 2NT  

So we use 3 of the other major when accepting the game invitation but looking for a       possible 5-3 fit in the other major; but what are 3( and 3( in this situation?

Hand J
You open this hand 1NT and the bidding has gone   1NT - 2( - 2( - 2NT - ?

( AJ9
You are only slightly more than minimum but with good (’s a retreat into

( AQ104
3( would be pessimistic if partner had something decent in (’s.

( 85


( KJ72
So we use these otherwise redundant bids of 3(/( as help suit game tries.

Example 5

West
East
West
East

(1)
transfer







(2)
normal accept

( AJ9
( KQ876
1NT
2(
(1)
(3)
invitational, 5 ( card suit

( AQ104
( J3
2(
(2)
2NT
(3)
(4)
can you help in (’s?


( 85
( 964
3(
(4)
4(
(5)
(5)
yes

( KJ72
( Q104
pass


A very reasonable 4( contract, the sort that you want to be in at teams. But what if responder does not have decent (’s?


______________________

Example 6

West
East
West
East

(1)
transfer







(2)
normal accept

( AJ9
( KQ876
1NT
2(
(1)
(3)
invitational, 5 ( card suit

( AQ104
( J3
2(
(2)
2NT
(3)
(4)
can you help in (’s?


( 85
( Q104
3(
(4)
3(
(5)
(5)
no

( KJ72
( 964

pass


East has the same hand but with the minor suits reversed, 4( would be a poor contract this time.


______________________

Unfortunately there is no bid for a game try in the other major, if you wish to make a game try then you have to choose the most suitable minor suit.

Summary of opener’s options when responder transfers and then invites with 2NT

The sequence

1NT - 2( - 2( - 2NT -  pass 
is minimum and normally denies 3 (’s,



1NT - 2( - 2( - 2NT -  3( 
is a ( help suit game try,

                   

1NT - 2( - 2( - 2NT -  3( 
is a ( help suit game try,



1NT - 2( - 2( - 2NT -  3( 
is a sign off,

                   

1NT - 2( - 2( - 2NT -  3( 
is looking for a 5-3 ( fit (else 3NT),

                and

1NT - 2( - 2( - 2NT -  3NT 
normally denies 5 (’s or 3 (’s.

The sequence

1NT - 2( - 2( - 2NT -  pass 
is minimum and normally denies 3 (’s,



1NT - 2( - 2( - 2NT -  3( 
is a ( help suit game try,

                   

1NT - 2( - 2( - 2NT -  3( 
is a ( help suit game try,



1NT - 2( - 2( - 2NT -  3( 
is looking for a 5-3 ( fit (else 3NT),

                   

1NT - 2( - 2( - 2NT -  3( 
is a sign off,

                and

1NT - 2( - 2( - 2NT -  3NT 
normally denies 5 (’s or 3 (’s.
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